HOMEWORK ASSIGNMENT #11

Problem 1. Z# Q(q,p), P(q,p) ZIENAEH, FH:
1.[Qi, Q5] =0, [P, Pi] = 0, [Qi, Pj] = bi;
2. [, 9lqp = [f: 9la.p

Problem 2. o 3 Nf{EN, "FIEATERA LA

Q = q%cos(Bp), P = q“sin(Bp) (1)
Problem 3. fHZ[EERM (g, p) ZHeF] (Q, P):
Q =1In(1+ /gcosp) (2)

P =2(y/q+ gcosp)sinp
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Problem 4. —MNAEN m WA MERTHEY V(q) H—%iE5), 550 it 52 3K /D 5 0 B E H BB 7
[ =—2m~q.
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2. WEHIZIEE) R bk B A L = 27t (Smg? — V(q)) 793

3. B HI% RGN B

4. GHIEREE Fs = 'qP XIRHTIENAER Q = Q(q,p,t), P = P(q,p,t), LURAEHGHIM EE
5 X1F Vig) = smw?e®, MEHTE v < w BT,



